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QUESTION 1

Which of the following is NOT required to configure an Alcatel-Lucent 7750 SR as a PE router running 6PE?
A. Configure BGP with the IPv6 address family.

B. Configure BGP to add IPv6 Explicit Null labels.

C. Configure a route policy to export IPv6 routes into BGP.

D. Configure the nexthop core router as a BGP peer.

Correct Answer: D

QUESTION 2

Which of the following indicates the path over which an LSP\\'s tail end router will return an RSVP RESV message?
A. The IGP FIB.

B. The Reservation State Block (RSB)

C. The Path State Block (PSB)

D. The opaque database.

Correct Answer: C

QUESTION 3

Which of the following is a function of the control plane in an MPLS router?
A. Label swapping

B. Pushing a label on an unlabeled packet

C. Label allocation

D. Routing lookups

Correct Answer: C

QUESTION 4
Which of the following conditions must a router meet for an LSP path\\'s RSVP session to exist? Choose two answers
A. The router must build the Path State Block (PSB).

B. The router must build the Reservation State Block (RSB).
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C. The router must build the Session State Block (SSB)
D. The router must send the second RESV refresh message.
E. The router must receive the second PATH refresh message.

Correct Answer: AB

QUESTION 5

Which of the following about MPLS shortcuts for IGP on an Alcatel-Lucent 7750 SR is FALSE?
A. An IGP route takes priority over a transport tunnel.

B. Both LDP and RSVP-TE based tunnels can be used.

C. MPLS tunnels can be used to resolve the prefixes learned via IGP.

D. Multiple MPLS tunnels can be installed in the FIB.

Correct Answer: A
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